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Sample Paper 2012 
Class – X
Time: 3 Hrs                    Subject – Mathematics                MM: 80
General Instructions: 

1. 
All questions are compulsory.

2. 
The questions paper consists of 34 questions divided into four sections A,B,C  and D. Section – A comprises of 10 questions of 1 mark each, Section – B comprises of 8 questions of 2 marks each, Section – C comprises of 10 questions of 3 marks each and Section – D comprises of 6 questions of 4 marks each.

3. 
Question numbers 1 to 10 in Section – A are multiple choice questions where you are to select one   correct option out of the given four.

4. 
There is no overall choice.  However, internal choice has been provided in 1 question of two marks, 3 questions of three marks each and 2 questions of four mark each.  You have to attempt only one of the alternative in all such questions.

5. 
Use of calculator is not permitted.

6.  
An additional 15 minutes time has been allotted to read this question paper only.
SECTION – A

1. For what value of  k quadratic equation 

[image: image1.wmf]2

20

xkxk

-+=

 has equal roots :                                  
2. In an AP if a = 1, an = 20 and  Sn  = 399, then  n  is
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3. The perimeter of a triangle with vertices (0,4), (0,0) and (3,0) is –
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4. The sum of first 16 terms of the AP  :   10,  6,  2, …   is
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5. The area of the square that can be inscribed in a circle of radius 8 cm is – 
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6. The distance of the point  P( 2, 3 ) from the  x-axis is 
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7. In fig. 1, ∆ ABC is circumscribing a circle. 
                       A
                       Then the length of BC is 


       3 cm 
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8. The probability of a sure event is -
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9. If  ( a, b ) is the mid-point of the line segment joining the points                 A ( 10, -6 ) and B ( k, 4 ) and   2a + b = 9 , then the value of k is 
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10. In the given figure , TPT’ is the tangent line to the


            circle C ( 0, r ) at the point P. If measure of 
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and  measure of ∟ APT’ = x0 , then the value of x0 is
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SECTION – B
11. Determine r for real roots 5x2 + rx + 3 = 0
12. Solve for x by factorisation 
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13. Find 20th term of A.P. Whose first term = 10, C.D = 3

14. Find a, b and c such that the following numbers are in AP: a, 7, b, 23, c.
15. Find the total surface area of a sphere having diameter 14 cm.
16. Find the value of m if the points (5, 1), (-2, -3) and (8, 2m) are collinear.
17. The probability of getting a bad egg in a lot of 400 is 0.035. How many bad Eggs are there in the lot?
18. Find a relation between x and y such that the point (x, y) is      equidistant from the points   (7, 1) and (3, 5).
SECTION – C
19. A lot consists of 48 mobile phones of which 42 are good, 3 have only minor defects and 3 have major defects. Vinay will buy a phone if it is good but Rahul will only buy a mobile if it has no major defect. One phone is selected at random from the lot. What is the probability that it is            (i) acceptable to Vinay ? 
         (ii) Acceptable to Rahul?
20. If the vertices of a triangle are (1, k), (4, -3), (-9, 7) and its area is 15 sq units, find the value(s) of k.

21. The area of an equilateral triangle is 17320.5 cm2. With each vertex of the triangle as centre, a circle is drawn with radius equal to half the length of the side of the triangle. Find the total area enclosed by the three circles except that is inside the triangle.
22. The inner diameter of the well is 3.5 m and 10 m deep find:

(i) Inner curved area 

23. Solve for x by factorisation 
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24. Two pipes running together can fill a cistern in 
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 minutes.      


If one pipe takes 3 minutes more than other to fill it, 
find the time in which each pipe would fill the cistern.
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25. Two tangents TP and TQ are drawn to a circle with centre O from


an external point T. Prove that ∠ PTQ = 2 ∠ OPQ.

26. A quadrilateral ABCD is drawn to       circumscribe    a circle.

                                    
Prove that      AB + CD = AD + BC


27. The sum of the 4th term and 8th term of an       AP   is 24 and the sum of   6th and 10th term      is 44.  find the first three terms of AP.
28. The length of a line segment AB is 10 units. If the point A is (2, -3)                                                         and point B Is (10, y), find the value(s) of y.   
SECTION – D
29. From the top of  a tower 96 m high, the angles of depression of two     cars on the road at the same level as the base of the tower on same     side of it are ( and ( , where tan( = 
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 and tan ( = 
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.  Find the distance between the two cars.

30.  If the equation 
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 has equal roots, prove that 
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31.  The angle of elevation of an aeroplane from a point A on the ground is 600.After a flight of 30 seconds, the angle of elevation changes to 300.      If the plane is flying at a constant height of 3600 
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 m, find the speed   in km/hr, of the plane. 
32. Draw a circle of radius 3 cm. From a point 5 cm away from the centre     of the circle, draw two tangents to the circle. Measure the length of each tangent. 

33. A bucket is in the form of a frustum of a cone and holds 28.49 liters of milk. The radii of the top and bottom are 28 cm and 21 cm respectively. Find the height of the bucket.
34. A sum of Rs 700 is to be used to give seven cash prizes to students of a school for their overall academic performance. If each prize is Rs 20    less than its preceding prize, find the value of each of the prizes.                                                           
Paper Submitted By: 

Name:      Ashok Kumar Gupta

Email:     ashokgupta197609@gmail.com

Phone No.7566741126


  
O








www.cbseguess.com
Other Educational Portals

www.icseguess.com | www.ignouguess.com | www.dulife.com | www.magicsense.com | www.niosguess.com | www.iitguess.com

_1383156689.unknown

_1383156693.unknown

_1383156697.unknown

_1383156699.unknown

_1383156701.unknown

_1383156702.unknown

_1383156698.unknown

_1383156695.unknown

_1383156696.unknown

_1383156694.unknown

_1383156691.unknown

_1383156692.unknown

_1383156690.unknown

_1383156685.unknown

_1383156687.unknown

_1383156688.unknown

_1383156686.unknown

_1383156682.unknown

_1383156684.unknown

_1383156681.unknown

